NOTTS. EDUCATION COMMITTEE

JUNIOR SCHOLARSHIP EXAMINATION, MARCH 12TH , 1932

ARITHMETIC

(Time allowed – 1 hour)

Answer as many questions as you can, taking them in any order you like.

Do not write out the question but give its number only.

Use both sides of the paper.

Show ALL your working.

1.
A grocer sold  2 cwt. 3 qrs 21 lb. of sugar at a profit of a halfpenny on each lb. How much did he gain altogether?

2.
A ball of string contains 88 yards. What length will be left after tying 86 parcels, each requiring 2 ft. 9 ins. of string?

3.
I have a dozen piles of pennies, each pile is 2¼ inches high.  If each penny is  3/32  of an inch thick, what is the value of the money in the dozen piles?

4.
(a)
Add together  0.6    3.025    1.365    and from the total take away  3.275 


(b)
How much is 90% of 14s. 2d. ?

5.
Arithmetic books cost  £6 18s. 0d. for 144. The total cost of supplying each pupil in a certain class with a book is  £1 15s. 5½d. How many pupils are there in the class?

6.
In order to reach his office by 9 a.m. a man leaves his house at 8.15 a.m. and cycles at the rate of 10 miles an hour.

(a) What is the distance in miles from his house to the office?


(b)
If his bicycle breaks down after he has cycled for 40 minutes, find the number of yards and feet he must walk to get to his office.

7.
In a window there are 24 panes of glass each measuring 10 ins. ( 9 ins. Find the cost of the glass at  1s. 6d. per square foot.

8.
Eleven boys and their schoolmaster went camping for a week. Each boy paid the same amount and the master paid  10s. 0d. more than a boy’s share. If the total expenses were  £6  3s  6d.  how much was each boys share?

